“BRAEHITS0T—4

JR R 2 ER (Bl O B x5
(2021548 #®&75ER )

TEEOBYHAREHSEBMESMSETEHLET,
B EBEBEM - -2068 H/m3  [EiA]

WA - 202144 R
CHED|
[REEEE TR - 20204111 ~ 202141 H
br =Y EEMEE 40,870 M/t [Fiik])
(b H1=YEHHIEETE DRIRELDLNG - LPGHIA ME S L UEH A M)
FAE T RS ([) 64,090
LNG(A) LPG(H)
20204E11 8 ~2021451 B 40,070 50,970

b Y=Y REHEE D EE

[FtERHL]
ko Y =ULNGEHHEE X 0.9476 + b H1-ULPGF{HEE % 0.0569
= 40,070 M/tx0.9476 + 50,970 M/t x0.0569
= 40,870 A/t (1DOGIZEEER A)
FEREEESEDOEE
[FtERHL]
b &Y R — B E T BRI
40,870 H/t - 64,090 M/t = -23,220 M/t

-23,200 M/t (100MKEHLIHE)

FHERBEMMmIH-VRERDEE:

[FtER#HL)
FERMEEETEIZE <+ 100 x 0.0891
= -23200 F/t=100x0.0891= -20.68 M/m3

SHETIA (0.081x1.1)
GABENTSRADBEIL/N A FEMMEFTVIET, I/ FRADBI/N S FELETY L)

HEMNEHEMmOEE EfHEBR

UE



